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k|yd kqM ;fdfGo 1fgsf gd'gfk|Zgx? 

(Paper I: Sample Questions of General knowledge) 

Level I Questions 

1. s'g} 7fFpsf] :yfgLo ;do 06:00 a.m. x'Fbf u|LgjLr dWofGx ;do (GMT) 02:00a.m. 5 eg] To; 

7fFpsf] b]zfGt/ (longitude) slt x'G5 < 

 The local time of a place is 06:00 a.m., when the Greenwich Mean Time (GMT) is 02:00 

a.m. What isthe longitude of the place? 

 A)       B)    

 C)       D)  

  

2. lgDglnlvt sygx? dWo] s'g syg 7Ls xf]Og, 5fGg'xf];\ . 

A) DofUgfsf6f{nfO{ dfgjclwsf/ ljsf;sf] k|frLg b:tfj]h dflgG5 . 

B) cf}Bf]lus qmflGtsf] ;'?jft O6fnLaf6 ePsf] lyof] . 

C) k|mfG;sf] /fHoqmflGtnfO{ af}l4s qmflGt klg elgG5 . 

D) ef/tLo :jtGqtf cfGbf]ngdf ;g\ !(!(–!($& ;Ddsf] cjlwnfO{ ufGwL o'u eg]/ klg lrlgG5 .  

 Which of the following statements is NOTcorrect? 

A) The Magna Carta is considered to be the ancient document of the development of 

human rights. 

B) The Industrial Revolution commenced from Italy.  

C) The French Revolution is also called the Intellectual Revolution.  

D) The period of 1919-1947 A.D. is also known as the Gandhi Era in the Indian freedom 

movement.  

Level IIQuestions 

3. eujfg a'4n] lgDglnlvt rf/ cfo{ ;To k|rf/ u/]sf lyP . tL rf/ cfo{ ;TonfO{ tn lbO{Psf] sf]8 

k|of]u u/L ;lx qmddf /fVg'xf];\ . 

Lord Buddha had preached the following four noble truths. Putthem in correct order using 

the code given below. 

1. ;+;f/df b'Mv 5 jf ;+;f/ g} b'Mv xf] .(There is suffering.) 

2. b'Mvsf] lg/f]w x'G5 jf b'Mv /f]Sg ;lsG5 .(There is cessation of suffering.) 

3. b'Mv lg/f]wsf] nflu Ps k|d'v dfu{÷pkfo 5 .(There is a path leading to the cessation of 

suffering.) 

4. b'Mvsf] sf/0f 5 . (There is cause of suffering.) 

A) 1- 2 - 3 - 4  B)    1- 4 - 2 – 3 C)  4- 1 - 3 - 2  D)    1- 2 - 4 - 3 

 

4. ;d"x I / II df hf]8f ldnfpg'xf];\ / sf]8af6 ;xL pQ/ 5fGg'xf];\ .  

 Match Group I and Group II and choose the correct answer from the codes. 

   ;d"x (Group ) I ;d"x (Group) II 

 a)Pl;of (Asia) 1.gofF ;+;f/(New World) 

 b)o'/f]k (Europe) 2.ljifdtfsf] dxfb]z(Continent of Extremes) 
 c) pQ/ cd]l/sf (North America) 3.;a}eGbf ;fgf] dxfb]z(Smallest Continent) 

 d) ci6«]lnof (Australia) 4.k|foåLkx¿sf] klg k|foåLk 

                                                                         (Peninsula of Peninsulas) 
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sf]8(Code) a b c d 

 A) 2         4          1          3 

 B) 2         1          3          4 

 C) 4         1          2          3 

 D) 1         2          3          4 

 

5. ;d"x I / ;d"x II df hf]8f ldnfpg'xf];\ / sf]8af6 ;xL pQ/ 5fGg'xf];\ .  

Match Group I and Group II and choose the correct answer from the codes. 

  ;d"x(Group)I  ;d"x(Group)II 

a) g]kfnsf] >Ln+sf(Sri Lanka of Nepal) 1)b}n]vsf] b'Nn'(Dullu of Dailekh) 

b) Hjfnfd'vLsf] lrGx(Trace of Volcano) 2)sf]zL6Kk'(Koshi Tappu) 

c) :ju{åf/L tLy{:yn(Swargadwari Pilgrimage) 3)d':tfª(Mustang) 

d) g]kfnsf] d?e"ld(Desert of Nepal) 4)Ko'7fg(Pyuthan) 

 sf]8(Code) 

A)a-2, b-4, c-3, d-1   B)  a-2, b-1, c-4, d-3  

C)  a-3, b-4, c-1, d-2   D)  a-4, b-3, c-2, d-1 

 

;fdfGo Aff}l¢s k/LIf0fsf gd'gf k|Zgx?( Sample Questions of General Mental Ability Test) 

1. I, II, III, IV /V x? dWo] k|To]ssf] km/s km/s prfO{ 5 . II, V eGbf dfq cUnf] 5 . III, I eGbf 

xf]rf] t/ IV eGbf cUnf] 5  eg] tLgLx? dWo] t];|f] cUnf] sf] 5 < 
Among I, II, III, IV and V, each has a different height. II is taller than only V. III is shorter 

than I but taller than IV. Who is third tallest among them? 

A)  III          B)  IV  C)  II               D)  Data inadequate  -hfgsf/L ck"0f{_        

2. lbO{Psf] qmd÷>]0fLdf k|ZglrGx (?) /flvPsf] 7fpFdf s] x'G5 < 

What will come at place of question mark (?) of the following series? 

i) BA, ED, JI, ?, ZY 

A) OP  B) PO  C) PQ  D) QP 

ii) 1, 1, 4, 8, 9, (?), 16, 64 

A) 12  B) 24  C) 25  D) 27 

3. lbOPsf ljsNkx? dWo]af6 5f]l8Psf ;+Vof kQf nufpg'xf];\ . 

Find the missing number from the given response. 

i) 

1 7 9 

2 14 ? 

3 105 117 

  A)28     B)18      C)16        D)12 

4. s'g} Ps lglZrt sf]8 efiffdf MEDIUM nfO{ NDEHVL n]lvG5 . Tof] sf]8 efiffdf MIDDLE 

nfO{ s;/L n]lvG5 < 
In a certain code language MEDIUM is written NDEHVL. How is MIDDLE written in 

that code? 

A)NHEEMD  B) NHECMD  C) NHCEMD  D) NHEEKD 

5. tLg JolQmx? Ps;fy lx8\g z"? ub{5g\ / tLgLx?sf] kfO{nfsf] gfk qmdzM 30 cm, 35 cm / 36 cm 

5 . k|To]s JolQmx?n] k"0f{ kfOnfx?df ;dfg b'/L kf/ ug{ slt Go"gtd b'/L lx8\g' k5{ < 
Three persons start walking together and their steps measure 30 cm, 35 cm and 36 cm 

respectively. What is the minimum distance each should walk so that each can cover the 

same distance in complete steps? 

A)  6 m 30 cm         B)  12 m 60 cm C)  18 m 90 cm        D)  3 m 15 cm 
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6. tn lbOPsf] lrqdf lqe'hx?sf](Triangles) s'n ;+Vof slt 5 ? 
What is the number of Triangles in the figure given below? 

 
  A)52 B)54  C)56 D)58 

 

7. tn plNnlvt k|Zgsf] klxnf] nx/df afofF b]lv bfofF ;lrq sf]7fx? lglZrt lgod cg';f/ qmda4 

?kdf /x]sf 5g\ . o;} lgod cg';f/ bf];|f] nx/sf] s'g lrqn] klxnf] nx/sf] k|Zg lrGx   -<_ ePsf] 

lrqnfO{ k|lt:yfkg u5{ ;f] kQf nufpg' xf];\ < 

The elements of first line figures below are changing with a certain rule as we observe 

them from left to right. According to this rule, which of the following second line figure 

would replace the question mark (?) figure in the first line if the changes were continued 

with the rule? 

 

 

 A        B        C        D                 
8. s'g} nfO{g÷nx/df /fd cufl8af6 aL;f+} :yfgdf 5 tyf Zofd k5fl8af6 PstL;f+} :yfgdf 5 .  hals 

/fd / Zofdsf] 7Ls aLrdf s[i0f 5 . olb Zofd eGbf cufl8 nfO{g÷nx/df /fd 5 / To; nfO{g÷nx/df 

hDdf 66 hgf JolQmx? 5g eg] /fd / s[i0fsf] aLrdf slt hgf JolQmx? 5g\ < 

In a queue, Ram is twentieth position from the front and Shyam is thirty-first position from 

the end, while Krishna is exactly in between Ram and Shyam. If Ram is ahead of Shyam 

and there are 66 persons in the queue, how many persons are there between Ram and 

Krishna? 

A)15  B) 14   C) 8   D) 7 
 

9. lbO{Psf] d]l6«S; k'/f ug{'xf]; . Complete the given matrix. 
 

 

 
 
 

 
     A      B      C       D 

10. ;ft (7)ljifox?sf] cÍsf] cf};t ;f¶L (60)5 . olb cufl8sf rf/ (4) ljifox?sf]  cÍsf]  cf};t 

lq;¶L (63) / k5fl8sf rf/ (4)ljifox?sf] cÍsf] cf};t krkGg (55)5 eg] rf}yf] ljifosf] cÍ slt 

5 <The average of marks of 7 papers is 60. The average of marks of the first 4 papers is 

63 and the average of marks of the last 4 papers is 55. What are the marks of the fourth 

paper? 

A)  52          B)  59  C)  59.33         D)  Data inadequate  -hfgsf/L ck"0f{_   
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ljifoM– sDKo"6/ ;Lk k/LIf0f (Computer Skill Test) 

 

kf7\oqmdsf] p2]ZoM– 

cfhsf] j}1flgs o'udf b}lgs hLjgdf cfOkg]{ Jofjxfl/s ;d:of ;dfwfgsf nflu ;"rgf / ;+rf/ 

k|ljlw;Fu kl/lrt / Go"gtd 1fg, ;Lk / wf/0ff ePsf]JolQm x'g ckl/xfo{tf /x]sf] 5 . t;y{ b]z 

ljsf;sf] d]?b08sf] ?kdf /x]sf] lghfdtL sd{rf/L 5gf}6 ubf{ cfwf/e"t sDKo"6/ 1fg / ;Lk ePsf] 

JolQm 5gf}6 ug'{ pko'Qm x'G5 . To;df gfoj ;'Aaf kbdf sfo{/t sd{rf/Lx?nfO{ sDKo"6/ ;DaGwL 

ug'{kg]{ ;fdfGo ;d:ofx? xn ug]{ Ifdtf x'g clgjfo{ b]lvG5 . To;}n] ck|fljlws tkm{sf Gofo, 

k//fi6«, k|zf;g, n]vfk/LIf0f / ;+;b ;]jf, /fhkq cg+lst k|yd >]0fL, gfoj ;'Aaf jf ;f] ;/x 

kbsf] v'nf k|ltof]lutfTds k/LIffsf] låtLo r/0fdf sDKo"6/ ;Lk kl/If0f k|of]ufTds k/LIff ;dfj]; 

ul/Psf] xf] . 

k|of]ufTds k/LIff of]hgf (Practical Examination Scheme) 

 

ljifo  k"0ff{Í k/LIff k|0ffnL ljifoj:t' lz{ifs 
cÍ 

;do 

sDKo"6/ ;Lk kl/If0f 

(Computer Skill 

Test) 

!) 
k|of]ufTds 

(Practical) 

Devanagari Typing @=%cÍ 
% ldg]6 

English Typing @=%cÍ 
% ldg]6 

Windows basic and 

Word processing 
% cÍ 

% ldg]6 

 

Contents 

1. Windows basic 

 Introduction to Graphical User Interface 

 Starting and shutting down Windows 

 Basic Windows elements - Desktop, Taskbar, My Computer, Recycle Bin, etc. 

 Concept of files and folders 

 Searching files and folders 

 

2. Word processing 

 Creating, saving and opening documents 

 Typing in Devanagari and English  

 Text formatting (font, size, color, underline, italic, bold, etc) and paragraph 

formatting (alignment, indentation, spacing) 

 Inserting header, footer, page number 

 Page setting (margin, page size, orientation), previewing and printing of 

documents 

 

 

----- 
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c+u|]hL jf b]jgfu/L Typing Skill Testsf] nflu lgb]{zgM– 

1=  b]jgfu/L Typing Skill Test sf] nflu !%) zAbx?sf] Pp6f Text lbOg]5 / b]xfo cg';f/ c+s 

k|bfg ul/g]5M–  

 z'4 zAb k|lt ldg]6 -Correct Words/Minute_ kfpg] c+s 

 % eGbf sd z'4 zAb k|lt ldg]6 afkt ) c+s 

 % jf ;f] eGbf a9L / &=% eGbf sd z'4 zAb k|lt ldg]6 afkt )=%) c+s 

 &=% jf ;f] eGbf a9L / !) eGbf sd z'4 zAb k|lt ldg]6 afkt )=&% c+s 

 !) jf ;f] eGbf a9L / !@=% eGbf sd z'4 zAb k|lt ldg]6 afkt !=)) c+s 

 !@=% jf ;f] eGbf a9L / !% eGbf sd z'4 zAb k|lt ldg]6 afkt !=@% c+s 

 !% jf ;f] eGbf a9L / !&=% eGbf sd z'4 zAb k|lt ldg]6 afkt !=%) c+s 

 !&=% jf ;f] eGbf a9L / @) eGbf sd z'4 zAb k|lt ldg]6 afkt !=&% c+s 

 @) jf ;f] eGbf a9L / @@=% eGbf sd z'4 zAb k|lt ldg]6 afkt @=)) c+s 

 @@=% jf ;f]eGbf a9L / @% eGbf sd z'4 zAb k|lt ldg]6 afkt @=@% c+s 

 @% jf ;f] eGbf a9L z'4 zAb k|lt ldg]6 afkt @=%) c+s 

 

2. English Typing Skill Test sf] nflu @)) zAbx?sf] Pp6f Text lbOg]5 / b]xfo cg';f/ c+s 

k|bfg ul/g]5M–  

 z'4 zAb k|lt ldg]6 -Correct Words/Minute_ kfpg] c+s 

 ^ eGbf sd z'4 zAb k|lt ldg]6 afkt ) c+s 

 ^ jf ;f] eGbf a9L / ( eGbf sd z'4 zAb k|lt ldg]6 afkt )=%) c+s 

 ( jf ;f] eGbf a9L / !@ eGbf sd z'4 zAb k|lt ldg]6 afkt )=&% c+s 

 !@ jf ;f] eGbf a9L / !% eGbf sd z'4 zAb k|lt ldg]6 afkt !=)) c+s 

 !% jf ;f] eGbf a9L / !* eGbf sd z'4 zAb k|lt ldg]6 afkt !=@% c+s 

 !* jf ;f] eGbf a9L / @! eGbf sd z'4 zAb k|lt ldg]6 afkt !=%) c+s 

 @! jf ;f] eGbf a9L / @$ eGbf sd z'4 zAb k|lt ldg]6 afkt !=&% c+s 

 @$ jf ;f] eGbf a9L / @& eGbf sd z'4 zAb k|lt ldg]6 afkt @=)) c+s 

 @& jf ;f]eGbf a9L / #) eGbf sd z'4 zAb k|lt ldg]6 afkt @=@% c+s 

 #) jf ;f] eGbf a9L z'4 zAb k|lt ldg]6 afkt @=%) c+s 

3. c+u|]hL jf b]jgfu/L Typing df lbOPsf] Text nfO{ cfwf/ dfgL 6fOk u/]sf] Text ;Fu le8fO{ r]s 

ul/g]5 . lbOPsf] c+u|]hL jf b]jgfu/L Text df pNn]lvt :yfg adf]lhd k/LIffyL{x?n] cfkm\gf] Text 

df Punctuation 6fOk gu/]sf] kfOPdf To;sf] zAbdf u0fgf ul/g] 5}g . tTkZrft lgDg Formula  

k|of]u u/L z'4 zAb k|lt ldg]6 (Correct words/minute) lgsflng]5 .  

 Formula: 

 z'4 zAb k|lt ldg]6 (Correct words/minute)  = 
(Total words typed − Wrong words)

5
 


